. weﬁaﬂtmﬁmwwﬁf@#m
T3 ST R | 3 W G 97 A Ak
5 & 3 R Tl 3T g 2 | e g
3 it i ST R 3 % g % g
et & o1 erfedt 3R g e @ | o e
fre fem d s s 2 2

AT
(B) whm
(C) <l
(D) s

2. 7fe feft fifveq g & CHILDREN i

BGHKESFO fer@n wimn &, @ 3Ht shie o

GEOMETRY ! & feran st ¢
(A) FDNMFUSX
__AB) FDNLFUSZ

(C) HDMNFUTZ

(D) HDNMFUTY X

—

1.

A man proceeding to the North turns
to the right. After some time, he takes
a turn to the left and again to the left.
Then he goes to his right and after
some distance again turns towards
his right. The direction in which he is

now moving is
(A) East
(B) West
(C) South

(D) North

If in a certain code, CHILDREN
is written as BGHKESFO, how is

GEOMETRY written in that code ?

(A) FDNMFUSX

(B) FDNLFUSZ

(C) HDMNFUTZ

(D) HDNMFUTY

2-D
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3.

W A ¥ § g R, 7 °iel Uged, A
T T WA T e o 31k o A 36Tl
STe 70 30 qrer 3w & A T A S,
W A qduE 3y w0 R

230 L 930 530 530 _ 4
(A) 812
(B) 8%
) 2%

(D) 232

M QM FIFEARIMM R F
cm A, AR Q frafoam ¢

(A) I - gd
(B) IW - ufr=m

/&Mﬁm -

(D) aferor - ufs=m

Sham tells his daughter, 7 years ago,
| was seven times as old as you were
then. Also 3 years from now, | shall be
three times as old as you will be. What

is Sham'’s present age ?

2% 4 2% 4 2%, 2% =7
(A) g120

(B) g30

() 26

(D) | 232

Towards which directions is Q from R
if Qis exactly to the east of M and M
is exactly to the South of R ?

(A) North — East
(B) North — West
(C) South - East

(D) South — West

e

o [4]
‘- f»-f+t-~”&
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e (W. 9.6 3 7) :

T W AW Al ), 0 s v w S wde
21 9 I wrelt € 1 9w § e e,
Q e, @ 9T 3R & s w § | el
ol AR WA T A 3R s we Wi $ |
T B U AT g st e off e v @
2 | gall aie W, IR W # @, wwan # g
Al @ 3R IUH et Th TSR R | U Fehie
ol ufSe & = war 2 | sie Tt o 3
1 IS T2l 2 | e afiet W s W wie @
TR |

Direction (Q. No.6 and 7) :

In a building, there are thirteen flats on three
floors—1I, lll and IV. Five flats are unoccupied.
Three managers, two teachers, two lawyers
and one doctor occupy the remaining flats.
There are at least three flats on any floor
and not more than six flats on any floor. No
two persons of the same profession stay on
any floor. On the Il floor, out of four flats, one
occupant is the lawyer and he has only one
neighbor. One lawyer live one floor below the
other. The doctor is not the neighbor of any
of the lawyers. No flat is unoccupied on the
1l floor.

6. IV ufset & fohae wle d e @ ® ? 6. How many flats are occupied on the
IV floor ?
(A) & (A) Two
(B) (B) Three
(C) =R (C) Four
(D) =2 I (D) Data inadequate
7. Il 5a W fora v € 7 7. How many flats are there on the
1l floor ?
(A) d= (A) Three
(B) IR (B) Four
(C) w (C) Five
(D) ITYH ° F HIS T (D) None of the above
2-D [5]
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0

8. & Wi Wit %t v ww 2 3w
ﬁmﬁmﬁmwmé

(A)

(B) s firerm

(C) =&7a

(D) (A) it (B) 2

9. TS%ETFWﬁ@mnﬁmﬁaw
dd € 3 22 it wmw A € ) B
aﬁqéﬁaﬁ%mﬁfﬁﬁﬁgaﬁw
A 2 | PR feremeff 37 9 3 & e of
qTe=IshH H mifeRa & & 7
(A) 6
(B) 15
(C) 24
(D) 18

10. 45 BHET 6 T wam § anfecy =1 ¥ s
Y aE 2 | 9 A g I fram 2 ¢

(A) 33
By 34

(C) 35

(D) fauifa & foran s Hepar

8.

10.

It is a form of body language and most
important aspect in the communication

process
(A) Speech

(B) Eye contact
(C) Selectivity

(D) Both (A) and (B)

In a class of 78 students, 41 are taking
French, 22 are taking German. Of the
students taking French or German,
9 are taking both courses. How many
students are not enrolled in either
course ?

(A) 6
(B) 15
(C) 24
(D) 18

Inaclass of 45 students, Aditya’s rank
is twelve from top. What is his rank
from bottom ?

(A) 33
(B) 34
(C) 35

(D) Cannot be determined

2-D
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1. f=fafaa 7 st areh gensi « fmEn 11. Consider the following three digit
LIRS numbers :
574 658 821 945 247 574 658 821 945 247
afe, ek Hen % vt 37 1 & 1w fen If 1 is subtracted from the first digit of
ST, dl ¥ YR o+l fepaht it tieic i each number, then how many numbers
ferers=r &irft 7 thus formed will be divisible by three ?
(A) I3 & (A) None
(B) wh (B) One
(C) = (C) Two
(D) (D) Three
12. <1 dt § sHE9: 850 W, 3R 680 . 12. Two tankers contain 850 L and 680 L
Uerel 2 | Ueh he i TR &HaT of petrol respectively. What is the
2 St 2T $HL % UgIel I T TE | maximum capacity of a container
o9 Tehdl & 7 which can measure the petrol of either
tanker, in exact number of times ?
(A) 1707
(A) 170L
(B) 180 =fl.
(B) 180L
(C) 200, (C) 200 L
(D) 195l (D) 195L
2-D [7]
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13, afe 500 siftves freft @t ) 8 ffi 1 gmrea
HL U 7, @ 5 Al 1 3t el ) g
H F ot fran siftres wii 7
(A) 800

(B) 575

(C) 925

(D) s 9 wIE T

14, Tr=fafas sgeva gof Hif |

U\gﬁ:ém::?:m
(A) T

e (9. 9. 15 — 17) : Tw=fofiaa STt & |

CIFYEh HALET L AR A= fow Uy %

IR E |

Th AT 1 fouuE gyeioeh 1 999 G 61 99

Freafafiga €

IrfieaR <hl JATERdl 39 YK §

|. <9 & HH 55% 3Teh! <& a1 foref) oft ferwy
o ek gHT =18 |

I, =I9 d1efTcsh § A | HH 40% 37 ITd
fopu 2t |

11, Hferer Frmran & @ fore) deen & feoom
AT H A " HH 5 a9 1 hEl TS
& |

13.

14.

500 workers can finish a work in
8 days. How many workers will finish
the same work in 5 days ?

Complete the following analogy.

President : Country :: 7 : State

(A) Chief Minister

(B) State Minister

(C) Governor
)

(D) Speaker

Direction (Q. No. 15 -17) : Study the following
information carefully and answer the questions
given below.

Following are the conditions for selecting
marketing manager in an organisation.

The candidate must :

Be a graduate in any discipline with
at least 55% marks.

Have secured at least 40% marks in
the selection interview.

Have post qualification work experience
of at least five years in the marketing
division of an organisation.

2-D
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P | 4'7

lv.wqﬁ&nfimﬁm%%mm

fhu R |

V. QU TS H 9 Qw5 60% 3Rt % e
iR feift/fevaim |

e hig SR wft wdl st g ot 2, e
a1,

i, ST | W, afe = wlen § o9 § %1 60%
¥ W Tohu B, O amer Sdt-fagum =
VST ST 8 |

ii. IR I ¥, afe dfers dmgar % ag 39
foqUE Yoo & ®0 0 &1 4 5 A aul
1 HE VS 7, o Amer sed - fague
T USSR

15. TH 3 AT T 56% 376 T 2 |
62% 37! o I1Y Tague T Hraehat <l
feaft gt o % a1e 9% firoet @ sl 4 T
Ter 3 ROvE ST A R R S | I8
=7 qie o 62% 376 3TN T Higfchi
ﬁ38°/o3ia;mﬁﬂ_a%|
(A) Imftgam o == o S @

(B) Jafieam 1 TR TE TR S @
(C) T Sied FHuE R S S R

(D) e it v <l 9T ST 8

IV. Have secured at least 45% marks in
the selection examination.

V. Have a post graduate degree/diploma
in marketing management with at least
60% marks.

In the case of candidate who satisfies all
the conditions except,

i. 1l above, but have secured at
least 60% marks in the selection
examination, the case is to be
referred to VP — Marketing.

ii. Il above, but has post qualification
work experience of at least 3 years as
Deputy Marketing Manager, the case
is to be referred to GM — Marketing.

Rakesh has secured 56% marks in
B.B.A. He has been working in the
Marketing division of an organisation for
the past seven years after completing
his Post Graduate degree in marketing
with 62% marks. He has secured 62%
marks in the selection examination and
38% marks in the selection interview.

(A)
(B)
(C)

15.

Candidate is to be selected
Candidate is not to be selected

Case is to be referred to
GM — Marketing

Case is to be referred to
VP — Marketing

(D)

2-D
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16.

17.

LA
Ak

a9 U, § 59% 37k g B 3 | 3o
T HIGTHR | 42% 3o 37 =5 qher
¥ 48% 37 W fhU § | 98 75% 31
é:amﬁwmua‘mﬁwaﬁmrmwﬁ
% g Rodt 7 ant & w geer % R
STIIET | 1 T G R

(A) 3=figar =1 s o s 2

(B) 3iigar =1 w7 7 frn < @
(C) e Sfiu fawom =t 91 s 2

(D) e =idt fquom =61 99 s R

Tt 3 == mreTesR i 60% 37 3R =
Tliet 7 40% 37 T R | 65% 37T
1Y fqovH yeed § Sl 6 el o
F % d1¢ 98 U 3713 a8 § T Feen
% fauvE s 3 S W@ 2 | s
.. § 59% 3 wiftet e E |

(A) Iefiear =1 = fopam S @

(B) Iwfiear i = T fopar ST B
(C) e Sfieg ferqur <t &S ST 2
(D) HEen <t feuur st S S 2

16.

17.

Varsha has secured 59% marks in
B.A. She has secured 42% marks in
the selection interview and 48% marks
in the selection examination. She has
been working in the Marketing division
of an organization for the past 7 years
after completing her PG in Marketing
Management with 75% marks.

(A) Candidate is to be selected
(B) Candidate is not to be selected

(C) Case is to be referred to
GM — Marketing

(D) Case is to be referred to
VP — Marketing

Nidhi secured 60% marks in the
selection interview and 40% marks
in the selection examination. She
has been working in the Marketing
Division of an organisation for the
past eight year after completing her
Post Graduate degree in Marketing
Management with 65% marks. She
has secured 59% marks in B.Sc.

(A) Candidate is to be selected
(B) Candidate is not to be selected

(C) Case is to be referred to
GM — Marketing

(D) Case is to be referred to
VP — Marketing

2-D
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18. X 2,000 & ufdy ufa ad 7% wvm sy

W Faw K 9l ) v@Aw ad F aiq i
TS B TR | 209 ad & a7 A =
ERIS

(A) 2,800
(B) ¥ 3,000
(C) ¥ 2,950

(D) X2,750

19. T=fciad § § SF-91 HY= G- 9 gefud

TR 7

(A) 79 =@ & T g1d 2 |

(B) 79 TaY =M 3R ST WH * g
g 2 |

(C) 7u faanel 1 wamam F1 % fere
A 2 |

(D) z@w @t 2raT 2 < A1 Ffeifpen T
ol

20. 10 % 190 (ZMi wnfoe &) @ == 10 %

-‘H":ﬁ -J_lulql:ﬁ(:-li I m ia)il'” % ?

18.

19.

20.

e O R Il 0%

A sum of T 2,000 is invested at 7%
simple interest per year. Calculate

the interest at the end of each year.
What will be the interest at the end of
20" year 7

(A)
(B)
(C)
(D)

32,800

73,000

¥ 2,950
32,750

Which of the following statement is not
true about listening ?

We listen to learn.

We listen to build and maintain
relationships.

We listen to resolve conflicts.

Listening happens only when you
don’t respond.

What is the average of all the
multiples of ten from 10 to 190
(Both are inclusive) ?

(A) 90

(B) 95
(C) 110
(D) 100

[11]
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21, 9% Wi Wi ¥ fio W HRER 21. Itis the study of body language used
WIST &1 aeRp R for non-verbal communication
. (A) Tt i (A) Haptics
(B) wiwdfiey (B) Proxemics
(C) wiash (C) Kinesics
D) wfw ¥ § ) 7y (D) None of the above
22. THH WeT ghRy | 22. Choose a similar word.
AR : fier A Sitar : Guitar : Tanpura
(A) gt (A) Trumpet
(B) amfem (B) Violin
(C) wmmifrEm . (C) Harmonium
(D) H&m o (D) Mridanga
23. H=MTE % Ty foT Hiea sem w2 23.  On which day of week did Mohan visit
B Bangalore ?
. A& 3 gEar 6l ggt o |
_ I. Mohan took leave on Wednesday.
I =irefs 1 319+ 2 3 et &9, Tpram
- - N Il. Mohan visited his brother on
I HIgd 794 918 & et | _ , o
Friday, the previous day of his visit
(A) TEm to Bangalore.
(A) Sunday
(B) T
(B) Thursday
(C) -7t (C) Saturday
(D) HreEn (D) Tuesday
2-D [12]
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24,

25.

A1 UL Y U I wER I Rrepey
SERH
a3 v et 1 gt feelt ¥ o forder
T ?
| TS N Ik | 9T R T a8 ' f
gl BHTEl W g w |

Il. g & S 1 S A U 2 B 9
31 °T" & e e 1 93 & Tgal T
o7 |

(A) ae |31 shaa |17 fem w2
T 2

(B) e | 3R Il gFi # femm mn a1
AT &

(C) Fael A | | fezm T Ser v B
(D) Shered e |17 feam e 3 vt @

af NECESSARY 1 % T&at 3fit it

e F, Y 3 TS AW H, T@d AN
3 31 S T o "eet e S, df s |
araat 31eR freffiaa § & SF-1 g ?

24,

25,

Read both the statements and choose
the most appropriate option.

In which month of the year did Rahul
go abroad for a vacation ?

|. Rahul correctly remembers that
he went for a vacation in the first
half of the year.

II. Rahul’s son correctly remembers
that he went after 31%' March but
before 1°' May.

(A) The data either in | alone or Il
alone are sufficient

(B) The data in both statements | and
Il are necessary

(C) The data in Statement | alone is
sufficient

(D) The data in Statement Il alone is
sufficient

If the first and third letters in the word
NECESSARY were interchanged, also
the fourth and the sixth letters and the
seventh and the ninth letters, which
of the following would be the seventh
letter from the left ?

Y (A) Y
(B) A (B) A
(C) R (C) R
(D) E (D) E
2-D e N SSEYRD
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T Fe
-’1‘

l‘$ “
T

Kéﬁ.%@@ﬁmaﬁmm%, T TN

& TS BN N G T
(A) TR Ty

(B) wshwenss arfirgf

(C) wHite wweey

/(D)” (A) 3T (C) arii

27. Q@ =AfwHAT T I H AT 9: 7 R I

3 ST 1 IUM 4: 3% | IR 3 a4
et 718 T 2,000 <=1 i §, 1 3ehT Hifereh

™ G iU |

(A) 18,000 37 % 14,000

(B) % 20,000 31K T 20,000

(C) ¥ 22,000 3R % 20,000

(D) % 16,000 3 T 12,000

26.

27.

It makes a person happier, helps

build and maintain relationships and

increases one’s chances of success
(A) Physical health

(B) Positive attitude

(C) Mental health

(D) Both (A) and (C)

The ratio of incomes of two persons is
9 : 7 and the ratio of their expenditure
is 4 : 3. If each of them manages to
save X 2,000 per month, then find their

monthly incomes.

(A) ¥ 18,000 and ¥ 14,000
(B) ¥20,000 and ¥ 20,0'00
(C) X22,000 and % 20,000

(D) 16,000 and % 12,000

2-D
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29. A BY 3fteh g9 8, C, A ¥ 31
Y9aE 2, D, C A i oaH § 3R
Eqad 31 o7ae @ | 3R 3% 3

¥ TW F & W ferm g, o fi= 1§

28.

29.

Choose the odd one out.
(A) Carrot

(B) Potato

(C) Beetroot

(D) Cucumber

A is richer than B, C is richer than A,
D is richer than C and E is richest of
all. If they are made to sit in above

degree of richness, who will bejj! the

2 2 2 middle ? d
A A (A) A A
®) B (B 8 C
/ee{'c ) C
(D) D (D) D
2-D [15]
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. e @c §
LU oty <) )
e AL
E§ \\\ &

P91 (3. ¥ 30 9 31) ; v, i 3 R
S St R 35 st § | o, g e
TS 5 3 st e 6w # | e 3
TR TR ¥ i Q) =y § e sk
WL 1 MR 3 e o o s o 3
TN R | oot o R & g o o
srga,uﬁm:’ﬁwaﬁa:w%?ﬂqﬁél

30. W F Wi § o w2 7
(A) ==
By
(C) g
(D) el

31. TgH 1 Rt & w=gEy R 7
(A) =F=rT W
(B) ==
(C) Wi
_ Py sret-g-at

32. UTH IeHl @ar 8 W, 4d i AR ik
6 Tt I hT TR =reran & | R afk
Afcm ferg % =ft=r it g = geft 2
(A) 9.

(B) 48 .
(C) 2,

__(D) 1ok

o ezl S

Q282 e ,;;175 zg;/)af

S I

Direction (Q. No. 30 and 31) : Sweety,
Ramesh and Shivender are children of
Mr. and Mrs. Agnihothri. Rima, Raju and
Sunil are children of Mr. and Mrs. Karkera.
Sunil and Sweety are married and have
two children Amar and Sonu. Geethika and
Rahul are children of Mr. and Mrs. Amin.
Geethika is married to Shivender and has

three children named Prathul, Pratheeksha
and Prathik.

30. How is Ramesh related to Pratheek ?
(A) Cousin
(B) Uncle
(C) Brother
(D) Nephew

31. How is Rahul related to Shivender ?
(A) Cousin
(B) Uncle
(C) Brother
(D) Brother-in-law

32. A man steadily goes 8 m due east and
6 m due north. What is the distance
between initial and final point ?

s 1
2-D 4{, [16]
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33. ¥g wfgni, wrht, 97 vd Sl s 33. ltindicates traits such as outgoing,

T ® talkative, assertive and energetic
behaviour

(A) ST
(A) Adaptability

B) amwmErE:

®) " (B) Optimistic

(C) sferem (C) Extraversion

(D) wiferagserar A (D) Neuroticism

34, TH €91 e U TF AlS SIE feherdl 8 34. Anaeroplane leaves an airport and flies

3 1000 feoprft /e <t i & ST/ 6 3k due north at a speed of 1000 km/hr.
3ed1 8 | 3 qUY ek 31 §ATE STarS St At the same time, another aeroplane
gars 318 O frevarar @ 3 1200 fordt /=en leaves the same airport and flies due
& iy | ufvay Y 3R 3T | 11;;@ west at a speed of 1200 km/hr. How far
' 2
¥ W€ <Fl Ba% TN @_@ o e apart will be the two aeroplanes after
. 11hr?

0 w g ? 2

(A) 300 V15 Rt (A) 300 V15 km

(B) 300 /33 ferri (B) 300 /33 km

(C) 300 /61 ferrft (C) 300 V61 km

(D) 300 +/57 femft (D) 300 /57 km

2-D [17]
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35. T @A wftrss @ g1 3 el § uw 35. The ability to listen with an open

v v ol 6 e mind and in turn send a convincing
message

(A) wmisrs e (A) Social skill

(B) Wy (B) Communication

(C) Srgsparfia (C) Adaptability

(D) st (D) Counselling

36. fe foreht & & 25 sprg ) TR B, 36. If 25" of August in a year is
39 TEH | HiwaR i ge e g o Thursday, then number of Mondays

in that month is

(A) 3
A) 8
@) 4 (A)
(B) 4
C) 5
(C) ©) 5
(D) 6 (D) 6
37. T TS & I HT U 2:3: 4 B, 37. The angles of a triangle are in the ratio
1 FFH FST B0 HH-F1 B ? 2 :3:4. Which is the biggest angle ?
/ex(am (A) 80°
(B) 76° (B) 76°
(C) 84° (C) 84°
(D) 92° (D) 92°
2-D 40 92 A0 g
b0 b 2 {//@,
o
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38. gl % fowm I w1 wH HRE |
(A) < : sifm
(B) ¥4 : AiEH!
(C) ¥ : wifsg
(D) vegfern : freh

————

o (w.9.39- 41):

sfm P,Q R S T, V, W3 YTH iR &t
F IR 3R H TSR 93 & fop 0 A IR A *
TR A W AS & vl =R e % wed |
% o0 S W 3 i F3 A IR E
=05 43 3 wahs el % wen § 93 =fF A
# 3R 7@ F 93 & | P, Fmew g@ g H
AT, V ¥ o R s W a1 B | T, o
7@ 3 1 IR, V o e TR T @ |
Van W Saa s AF 2613 1S5, Q %
Zrff 3R gE T W e & | Q1 7@ g A1 3N
3| R, P Tehcan e & 8 |

39. Q% T & gL TIF WHH & 7

38. Choose the odd pair of words.
(A) China : Beijing
(B) Russia : Moscow
(C) Spain : Madrid

(D) Australia : Sydney

Direction (Q. No. 39 -41):

8 friends P, Q, R, S, T, V, Wand Y are sitting
around a square table in such a way that
four of them sit at four corners of the square,
whereas four sit in the middle of the four
sides. Those who sit at the four corners face
the centre while those who sit in the middle
of the sides face outside. P who faces the
centre sits third to the right of V. T, who faces
the centre is not an immediate neighbor of V.
Only one person sits between Vand W. Ssits
second to the right of Q. Q faces the centre.
Ris not an immediate neighbor of P.

39. Who is second to the left of Q7

(A) P (A) P

B) V (B) V

©C T ) T

(D) Y (D) Y
2-D [19]
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40. R & weiu A ffafaa 1 § aq-u

40. Which of the following is true
R 7 regarding R ?
(A) R &1 9@ &g 6 a3ty (A) Rfaces the centre
(B) R, V &1 feeam uekdt 2 (B) Ris an immediate neighbor of V
(C) R TR SF e = & da1 2 (C) Rsits exactly between Tand S
(D) Q R % and & dray o w agr 2 (D) Qsits third to left of R
41. V5 a<i ¥ T o e o7 27 41.  What is the position of T with respect
, to V?
(A) sl AR g oV
(A) 2"to the left
(B) STt 3R <o
(B) 4™ to the left
C) i SHESEN
() R (C) 3"to the left
(D) =Ifet 3 e (D) 3“to the right
42. FFHOTET UL 8, 3, -2, ... % UES 42. What is the sum of first 22 terms of
22 921 &1 I FAT R 7 AP.8,38, -2 ..7
(A) 979 (A) 979
(B) —979 (B) —979
(C) 799 (C) 799
(D) —997 (D) —997
2-D [20]
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43. UH I Bl B oA W 20% 9 F a1
ST g, @ fsRT qed 3R R ged
AT TR 7

A)/'fG:

_ (A 615

(B) 5:4
G 7:

(D) 2:

44. TOE HEAEUA HW N IwEElcE] B

—_—

qerem g Wi 3

43.

44.

An article is sold at 20% gain on the
cost price. What is the ratio of selling

price and cost price 7

This involves the ability to negotiate

and resolve disagreements
(A) Leadership
(B) Creative thinking

(C) Conflict management

(D) A T (D) Critical thinking
45. waer i gHT | 45. Choose the odd one out.
(A) 7324 (A) 7324
(B) 9611 (B) 9611
(C) 2690 (C) 2690 249,
T\t
(D) 1754 (D) 1754 g% 2Z -
ek 3
2"D [ 21 ] M/ 2 0{7%0'7120
g\ 19 Pl S g 0© 0
5297% ¢ T1Eo=XMT k2l
s 6l Coe® 2
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\46. e Ty et W iR § @ @
witE B 7

(A) fofad wiwor
(B) wifswar syaor
(C) farmg wram
D) g o

47. ®UF : G & TSNl 31T w ged
BT AV Ui 0 TEfesh qanal 6
et AT NEar § |

Freenet
. 3T Tard WRd § SRl
T2 |

ll. ¥Ra | TaAniye gand arfies
AR B |

(A) Fae frewy || JTET T 8

(B) hael fsd | 3TTEROT ST B

(C) =l |31 Il STFHTT HLal &

“_)D»)/fr"a’rlq-a“r || 3TTEROT LT B

46. Effective communication skills include

which of the following ?

(A) Written communication
(B) Active listening

(C) Conflict resolution

(D) All of the above

47. Statement : The best evidence of

India’s glorious past is the growing
popularity of Ayurvedic medicines in

the west.

Conclusions :

I. Ayurvedic medicines are not

popular in India.

. Allopathic medicines are more

popular in India.

Only conclusion Il follows
Only conclusion | follows
Either | or Il follows

Neither | nor Il follows

2-D

[22]
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48. fefafaa W S9-ar v anferg e | 48. Which of the following is not a social
TR 7 skill ?
(A) 4 S=FT (A) Building bond
(B) wgam (B) Collaboration
(C) &uwu (C) Communication
(D) =TS A= (D) Creative thinking
49. TS 4 H& i a1oft Iaon <6 Fe 49. Rajeev planned his journey to Mumbai
frEr s as follows :
th
TE A G I T w4, I He willtravel % of the total distance
th
N 3 ..
E@W % VI YErTE & 3T 3T 200 Redt by an aeroplane, A of the remaining
. by train and the remaining distance
1 gl %R @ 7@ Hu | 43 H FA
of 200 km by a car. What is the total
Trat 8 2
distance of Mumbai ?
o %
AY 1800 Tertft g B =
AR (A) 1800 km il s
3 s
(B) 2400 fsit (B) 2400 km A7
(C) 1600 ferrfl (C) 1600 km 9 o 2%
T
(D) 2250 ferst (D) 2250 km
T 7 2
- 4 G .2+ o =
2-D rb((%_ ‘._% , (2 %ﬂwé .l <19 575
S5, %2 1. oo0 = } 3. I
9 g IE ‘ 36
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50. S st it R 3 g, g, W

51.

O 3N AR w1, A v 0 S G SR

THMEI® _ wwd#
(A) Rfsw sror A
_(B) "ufsw sy
(C) =ad sy -
(D) 3wfaw vl

e “NUTAN" o=z 3 arert a7 amd @ g
A H SEfRn fr wm, @ e
A TH & T 9 @ 7

(A) s Tl
(B) @
C) @

PR

52. freft saf 1 wRfRufy 3 v ) e

% G R A et s
=T AT T A B

(A) werygfd

By mmyfa

(C) = y

(D) #am .

50.

51.

52.

The best kind of listening which happens
when you hear, understand, respond
and remember what is being said is

(A) Passive listening
(B) Active listening
(C) Selective listening

(D) All of the above

If the letters of the word “NUTAN" are
arranged alphabetically from left to
right, how many will remain in same
position ?

(A) None
(B) One
(C) Two
(D) Three

It is the ability to share someone’s
feelings or experiences by imagining
what it would be like to be in that
person’s situation

(A) Sympathy
(B) Empathy
(C) Attention

(D) Listening
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53. 616 wgwal & {1 ) uh gehe) W N 53. An army contingent of 616 members
30 wewit ¥ amf] e % 0D ure e R | are to march behind an army band
. . . of 32 members in a parade. The two
QA TRl ) wE gear 3§ wiem 1 v
groups are to march in the same
FER | i o sifercken e frer number of columns. What is the
Bl e 3 ol s e R 7 maximum number of columns in which
they can march ?
(A) 16
(A) 16
(B) 32
(B) 32
C) 24
©) (C) 24
(D) 8 (D) 8
54, g ST ek Al GHU o 1Y 3| e 54. The essential component that is the
o1 S < fermm wfspen ® weh TehrreHeR, result of a positive flow in our thought
ST gfeom 2 process to communicate well with
others is
(A) HIT T (A) Demanding
(B) e (B) Assertiveness
(C) HeR wEuA (C) Micromanagement
(D) afirgh (D) Attitude
2-D
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e ¢ =g uia e ufy e @
aaﬁ%,aias@tﬁﬁ'mﬁtﬁz?ﬁqﬁ
T HR 7

(A) 300 %
(B) 3000 $ie

(C) 7200 He

)/ 18000 $ie

56.

A1 €t S e § and Ow @ 25 3% ¥

55.

If an object travels at the speed of five
feet per second, how many feet does

it travel in one hour ?
(A) 300 feet
(B) 3000 feet
(C) 7200 feet

(D) 18000 feet

56. Inthe below arrangement, which is the
Tl 3R 7 9f 37 HH-T1 ® 7 7" digit to the right of 25™ digit from
right end ?

2637.564289.61,341, 7.2,6,3,7,5,6,4,2,9,6,1,3,4, 1,
6;3791115’6’91253,176,5,4,3,2; 6,3’9,1’5,6,9,2,3,1,6,5,4’3,2’
1,9,6,7,1,6,3 1,9,6,7,1,6,3
(A) 5 (A) 5
(B) 1 (B) 1

_AC) 6 (C) 6
(D) =94 A Frd & (D) None of these

2-D [26]
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fRaw (w. 9. 57 3k 58) : M9 for T Aw
T AR 3 q6 2000 31 2001 F A wh
NN St 6 57 sl § qent B R
(TR T) 9 <uian R |

Direction (Q. No. 57 and 58) : The bar graph
given below shows the sales of books {in
thousand) from six branches of a publishing
company during two consecutive years 2000

and 2001.

005
T 120 1%
21104 105 110
@ 100 -
9 90 -
< 70 165 :
2 60 -
g 50 -
—~ 40 -
&= 30 9
E 20 -
E O § i ¢ [ i i
B1 B2 B3 B4 B5 B6
. 02000
vEm / Branches —
02001
‘/27—\ EHT Fu1 h ToIU @1 B6 <l et fasht gt 57. Total sales of branch B6 for both the
s 91 % o o B3 <t Fa fasht o1 feram years is what percent of the total sales
i 2 ? of branches B3 for both the years ?
71.11% (A) 71.11%
(B) 68.54% (B) 68.54%
(C) 73.17% (C) 73.17%
AP 75.55% (D) 75.55%

58. <M a9l = farw sm@n B2 i et fasht o1 58. What is the ratio of the total sales of
21 991 @ Tau gmEn B4 FA fesht @ branch B2 for both years to the total
ST FATE 7 sales of branch B4 for both years ?
(A) 3:5 (A) 3:5
(B) 2:3 (B) 2:3
(C) 4:5 (C) 4:5

D) 730 (D) 7:9

2-D ﬂ__\ " C} [27]

C} Scanned with OKEN

Scanner



59. Feifefaa mitvem 1 s % s
S SR W ¥ I Y |

Y%

59.

Study the following table and .

the questions pased on it.

e et e et o ST o =7 (€T )

Expenditures of a company (in lakh) per annum over the given years

A H A
Item of Expenditure 7 ]
= A | S aiRufegr | &E 0T o = Lo
Year | Salary Fuel and Bonus | Intereston loans | Taxes
Transport 3
1998 288 98 3.00 23.4 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 o8
L‘éf’a;ﬁ/- 26
3H HAY o SR HO I I 99 = What is the average amount of interest
=1 3itaa Tfs feraft gt uet ¢ per year which the company had to pay
during this period ?
(A) X33.72@ (A) 33.72 lakhs
(B) ¥32.43 @@ (B) % 32.43 lakhs
(C) ¥34.18¢@ (C) X 34.18 lakhs
% 36.66 @@ :
/@)/ /(D) 3 36.66 lakhs
2.D [28]
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60. Tr=fafed sgewar wf 6ifw |
BAYZ : COXW :: FEUV : ?

(A) HGST
_(B) GHTS
(C) EFYU
(D) BAYZ

61. N Hivet i it Frerfeifaa § @ frad

IO B Tehell @ 7
(A) ¥|
(B) frrm

(C) @ g T
/(,D)/\-,ﬂéaﬁmﬁ

62. U T % TAH W &1 3AFET =MET ?

ANZBOYCPXD?W

&

60.

61.

62.

—

Complete the following analogy.
BAYZ : CDXW :: FEUV : ?

(A) HGST
(B) GHTS
(C) EFYU

(D) BAYZ

Lack of communication skills can result

in which of the following ?
(A) Confusion
(B) Frustration
(C) Missed opportunities

(D) All of the above

What should come in the place of

question mark ?

ANZBOYCPXD?W

[29]
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63. Iy 1009 4 =faq & ush qREr @
30 ol & forw wiwmen s w2, W
X300 ¥ 6 wufiedi % gfar ) Ry R
& e g s e @ o

_(Cy 50
(D) 55

64. F=fafEd 3 & w-ar we g Fhwet @

(A) TTEHi, TEhal % wrer T wer
hl e
(B) Wk M w1 Aqea
),C)/‘éfrmﬁ@ﬁ%mﬁwm
(D) U TIEY i AEIEn

65. T HU I TR gfEewhIv i Hoes Hi
(A) T4
(B) firegmran
(C) rom
(D) =M & g &l

R\

\_J

64.

65.

If Z 120 maintain a family of 4 Person
for 30 days, how long T 300 Maintg;

a family of 6 persons ?

(A) 25
(B) 40
(C) 50
(D) 55

Which of the following is not an

example of soft skills ?

(A) Ability to communicate with clients

co-workers
(B) Leading a team
(C) Social media marketing

(D) Negotiating a contract

This is the ability to persuade others

to our point of view
(A) Influence

(B) Aptitude

(C) Inspiration

(D) None of these

2-D

[30]

C} Scanned with OKEN Scanner



-.l“ﬁ
TS

66. nﬁmzstﬁaa@wﬁaﬁtmﬁ,ma@
STl R 58 T Al 20 ew e |
T % ol Al si e s 25 e
S| g TR ol erl siv me i
15%%1133%%@@%@
TSR form R 3 8 7
(A) 60 ez g

B 35 et
(C) 40 et g

55 35 e I
/

67. ﬁcmaaﬁaaaq-mm%aaa%?

66.

67.

Rajesh walked 25 m towards South,
then he turned to his left and walked
20 m. He then turned to his left and
walked 25 m. He again turned to

his right and walked 15 m. At what

distance is he from the starting point
)

and in which direction ?

(A) 60 m East

(B) 35 m East

(C) 40 m East

U -
LT

25
(D) 35 m North
a0

Which of the following fraction is

greater than —12- ?

2
(A) 5

[31]
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68. u&h - 1N we ¥ oty R e | 70. g - 1A i JRgL A feg
R - 0 3 S R e ¥ e - | T & aun G - ”ﬁ?ﬂi@_“}f_@’w
R gl - 1A D aen R R Wﬁzﬁﬁqwg|;@—lﬂﬁ?m
T HE W ud Iw gl |
A gelt - 11 & i e A 1G0T e
NSy -
- T & I g |
(@ g IRES]
(b) N (ii) e g - | g -l
(0) Ame | (i) W (z) W frawh | (i) A T |
w®=: e |
@ (b (o) (b) HTTSH (if) e H TG ¢ |
(A) (i) (i) (i)
_ (c) Fegs | (i) TR & Rae
By 0 (iii) (i)
- TG T |
©) () @) (i)
(D) (i) (i) (i) He:
(@ (b)) (o)

69. ‘gIwr g 1 wat A Biar @

(A) o st sreen @ | AN (i) ) (i)

(B) o TR o 7 A | (B) (i) (i) (i)
{0y s s e © O ) @) «
(D) Feehl TAH T@I Tl | ©) @ i) G
2-D [32]
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7. Pl = o § reremss e | 74, Tt - | qewaTees TEAm % dH 9g T

W Tl I W gh |

e § qen g - 11 H 31 i WG] o e
frw e ¥ | = - | e, =l - 1@

)y ER S g s R g, R e ) R 0 g Y T S R |
TR |
_ ' g - | Tt - Il
(5 35 S e iy 6 | (a) ST | () 3,39, 3,9,
\(C) N GRA G @R | a9
« (D) 3T G = T 7 (b) wem &Y | (ii) H, BH, g AW
(c) =T | (iii) q, qH, 37,
T A
72. T R W o wee 2, Prefafea B
it 3 T vd = g R | &
(a) (b) (c)

(A) SH

(A @ (i) (i)

®) )B«)/ Gy i) ()
ey e ©) (i) @ (i)
(D) AT D) o (i) (i)

73. ‘guT’ veg % FE 3 = AR fafen |

=+l gy |
(A) B (A) TfeeT 3R e =1 B EET ] | A
(B) faem (B) wfeca 3R Sfad o1 s Tag 8 | KX
(C) ™ (C) wifeca 3R o 1 Hiftm dmar g |
(D) Dy e i Sfiem  afs wew R ) —

7§>‘ﬁﬂ%ﬁ§ﬁﬁﬁamﬁﬁ§f§ﬁgaw

2-D
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76, o i e et 3 ol )
feria |

(A) w=ar 7 fegr T =
(B) =Ml wa st @
) wlt-wlt g

(D) PR ST «

77. ToumETSS T fRY wed § 7

rQ(A) N9 It & et 5 % 7 2 @
Y B B |

5 et & foreht e ot 0 a1
B 1 Sy 8T 2 |
(i) 7 Tl 8 o % 2§ TeE @
qAG | | |
Q) T arr g gwar R s, s=er
YT TRfiEE 1 91y @ |

/78. el gl o FHaTid - e sl s

Bl g ?
/War{a%ﬁ,a@reﬁ,m

(B) HETEl, Hardl, Hardl, gl A
(C) =, wteredt, siemoreft
(D) & | P13 TE

@ ‘zﬁmamaﬁ‘aﬂ’w%wm

i gt ffa |

) 1T 3 AR S HEI A | 4
LB),WWW%W@%I
(C) S ar W IwH HE T G

/@ysﬁmafﬁam%asﬁqﬁ

hdl |

80. ﬁ%@%qﬁﬂmaﬁgﬁm

(A) @ ar § T 2 I 9U T @
g g 8 |

(B) & o o meft Iuee THH TR &

Rl

(C) T 9o I ek T IuaTeRT 3IR 34

ST Th AT 3 39T & |

(D) T et a1 w1 fpeft off TR

el 2 |

2-D [34]
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81, ‘st W W A 83. ‘gEd WA’ o wehEd 7 ford w1
(A) R SR R (A) Hfta
(B) <R o i (B) TR wiad
(C) Tt (C) g@ =
(D) 3THRY (D) 7&a =t
82. TETET T % avf % W A fre @R @ I W GE) T e R
fet T (A), (B), (C), (D) ¥ & =t fersic &) T
ol _?_[:ﬁ :
_(B) wFH
(a) T IARAT | (i) TR BT
(b) eI EAT | (i) fua @ ggm (©) 7
(c) Ta B | (iii) T=e fagen (D) THET
el
(d) WeEA | (iv) RS /AT
85. ‘W & Hdol@ BIEEl 7 a1
(a) (b) (c) (d)
(A) wea
(A) (i) (i) (iv) (1)
(B) s
® o (ii) (i) (iv)
© v i) @) (i)
/
(D) (i) (ii) (i) (iv)
2-D [35]
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86. TIA-M3 % S gy e ¥ -
(A) wdl-werma ana
(B) uf@am afya amn

(C) @reht &1y

(D) = % Wi

87. Wl Wt w1 frem wieR W fw qw (A),
(B), (C), (D) 7 o =&t ferehew & =t

(A) @
(a) el (i) ot
(B) gemn
(b) AR (i) =reEn
(C) g¥@r
(c) o= (iii) qfveher
(D) 9@
(d) (iv) G, 9hl B3T
(a () () (d 90. g % wifaw ¥ o7 Hew Fref ek T @
Foheal R, 3N B
(A) (1) (i) (i) (iv) o §
. o . (A) @
ﬁ)/ (iv) (i) (i) (i)
(B) @ie
(C) (i) (i) (i) (iv)
(C) wfw@n
(D) () (i) (iv) (i)
(D) =t
2-D [36]
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91. e Sig! fremk @ w faw gu (A), (B),

93. gl e ek wrer T e U (A), (B),

(C), (D) W & u& farehey o <! - (C), (D) fersbed @ & Wt &1 I
EVEER (i) sgh (a) Th-sit | (i) et
(b) g (i) T < .
(c) Tl (i) ST F AE Oz o
HUEl (c) sai-zal | (i) $-3IW
@ 3 i (d) wfeal | (iv) I~
@ () () () @ ) © @
W @ @) ) e w0
® @) @ @) (i) ® @ ) (i) ()
(C) (i) (i) (iv) (i) ©) (i) (i) (i) (i)
o) (i @ 0 W) o @) @) @ )
92. ‘TaM FHEIY AR AT, I T : 94, ‘HET-w W EAE R :
(A) <R (A) e
(B) & (B) wgsife
(C) dEn (C) @
(D) Zem (D) sreerftsma
2-D (971
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